
QUIZ 2 EXAMPLES    MATH 241   THOMPSON 

 

 

 

 

 

 

 

 

 SKEWED LEFT falls to the left, this one is SKEWED RIGHT because it falls to the right 

 BELL SHAPE is symmetric, and UNIFORM is approximately all the same height 

 

 

 

 



 

 

 

 

 

 

 

 

 

            

Skewed Right 

 

 

 

 

 

 

 



 

 

 

STATCRUNCH 

GRAPH – STEP AND LEAF 

NONE for outliner timing 

COMPUTE 

STATCRUNCH 

GRAPH – HISTOGRAM – highlight var1 

Type: frequency 

start at 100 

width 100 

value above bar   

COMPUTE 

Gives the frequency 

Find relative frequency: 

𝑓𝑟𝑒𝑞𝑢𝑒𝑛𝑐𝑦

𝑡𝑜𝑡𝑎𝑙
= 𝑟𝑒𝑙𝑎𝑡𝑖𝑣𝑒 𝑓𝑟𝑒𝑞𝑢𝑒𝑛𝑐𝑦 



 

Use the histogram to choose graphs – skewed right because the right tail is longer 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 



 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

The graphs are skewed right because the fall to the right 

 

 

 

 

STATCRUNCH 

GRAPH – HISTOGRAM – highlight var1 

Type: frequency 

start at 0 

width 1 

value above bar   

COMPUTE 

Gives the frequency 

Find relative frequency: 

𝑓𝑟𝑒𝑞𝑢𝑒𝑛𝑐𝑦

𝑡𝑜𝑡𝑎𝑙
= 𝑟𝑒𝑙𝑎𝑡𝑖𝑣𝑒 𝑓𝑟𝑒𝑞𝑢𝑒𝑛𝑐𝑦 

Statcrunch computes relative 
frequency but rounds to two decimal 

places instead of 3 

So you have to do it manually 



 

 

 
 

 

  

 

        29+8+4+1 = 
𝟒𝟐

𝟐𝟎𝟎
= 𝟐𝟏% 

 

 

 

 

 

 

 

 



 

 

 

 

 

     Relative Frequency is 
#

𝑇𝑂𝑇𝐴𝐿
 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  



 

 

 



 

 

 


